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SCHOOL BOOK SOURCE
Class Term
Simple Interest 7 OLD 3 2.5
7 NEW 3 24,25

Interest which is calculated uniformly on the original principal

throughout the loan period is called Simple Interest.
: : : PNR
i. Simple interest: 1 =——
100
P = Principal
N = period
R = Rate of interest
ii. Amount: A=P+1
SLET  HTeVD  (PIpaU D  SLemul OsThHSUIULL OiFedled  Fymul
SSHBILLIILUBLD Ul lg Heoll QUL IQUITEGLD.

. . PNR
1. &l aully | =00
P = o560
N = smeuld

R=a1'ly aipb

1. OWTsHs CFHTems A=P+|

A sum of Rs. 800 is lent for one year at the rate of 18% per annum.
Find the interest.

eh. 800 eIl OFHTemd @Ih QUL &HTVSHHBEGH 18% Wi Ul lguled
SLTUI QUPRISLILGSHGBSH. AL 19H CHTeNHNUI HITCWIS.
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Kumar borrowed Rs. 400 from his friend at the rate of 12% per
annum for 2 %2 years. Find the interest and amount paid by him.
GMT 5400 edwl Heot HewLfLWOHHE 2 Y2 auBLBISEHGHG 12%
(G QL 1guilev &HL_60TTU QU GBIBITT. Sl CFaIHIH U
AL 19HOSHTnHMWIUD CLOTHSH OHTENHMWIUILD SHT60155.

Find the interest on Rs. 1200 at 6% per annum for 146 days.
6% otewih  auliguiled eh. 1200 &G 146 BT BEHHBTRN QU195
OBHTMHMWIS SHT6WISb,

A sum of Rs. 46000 was lent out a simple interest at the rate of
18% per year. Find the interest at the end of 1 year and 9 months.
546,000 eIeID OFTend @ITawIgB@G 18% e@ibd el  auliguied
SLTU  aUpmSLILUGH@BEH. 1 U@L 9  LIHEGB6T Smiguled
CQUHGLD QUL 19HOHTENHMUI  HITCIISH.

Find the simple interest on Rs. 1000 for 6 months at the rate of 5
paise per rupee per month.

Rh THSIBG @ HUTUISEG 5 UFT aid allly aldHHHH0 .
1000, 6 WTHHH6O CBTHHGD Hol UL 19 HOBHTENHEDUI  HIT6wI5H.

Find the simple interest when principal is Rs. 12000, rate of
interest is 18% per annum and time is 4 months.

18% ouewih aul'lp aiddHHed p. 12,000, 4 DTHHH60 CBTHHGHID Hel
QUL 19HOSHTENHMUI  HTCWI .

Find the simple interest when principal is Rs. 500, rate of interest
is 12.5% and time 4 years.

12.5% etamid  aul'l9  ainHHe0H.500,4  auHLBIB6T6D OBTHHSGHID Hel
QUL 19HOSHTENHMUI  HTCWI.

Kumar has paid simple interest on a certain sum for 2 years at
10% per annum is Rs. 750. Find the sum.

G @ OFTenddFH 10% ewi® ol lguied 2 aU(HLBIHEHDHES
CFISHHUW Sl 19HEHTNDH H.750 DIHOHTEHBHEMUI HTEWIS.

A sum of money doubles itself in 8 years. What is the rate of
interest?

Rh GOUILL 0xTend 8 eu(HLEIG6Ned I 19sbHamBa . allly @igHld
SHITE0Ib.
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10.

11.

12.

13.

14.

15.

A principal becomes Rs. 10050 at the rate of 10% in 5 years. Find
the principal.

R SFTRin 10% aindhded 5 aumpLBBefllsd @h.10,050 D H GBS
DIFMVH BTGP,

Kumar borrowed Rs. 52000 from a money lender at a particular
rate of simple interest. After 4 years, he paid Rs. 79040 to settle his
dept. At what rate of interest he borrowed the money?

GTT @ U IQSHHMLSITTRNLLO(HHA @Fh GUIUILL  Hell eully
alHHHe0 4 eumLBEIBEHEG . D2000 Hvz SLemul GBI EIBTT.
ST ah. 79040 emw OQFNHFH DAUT SLMDT DIWLSHSHGIBTT.  6l[HSH
ALY aiHHHeL eUT Sl GLBBTT.?

A farmer borrowed Rs. 2400 at 12% interest per annum. At the
end of 2 72 years, he cleared his account by paying Rs. 1200 and a
cow. Find the cost of cow.

om  aleusmul  12% oW euliguled  h.2400emul B eTTUl
Qupidemrt. 2 72 aumL Bmiduied SauT 51200 Wb @ LIGedalubd
OBTHHSH HLW6T DIGHL SHHIOIBIT. Lol alenevenuldh SHTemIm.

Kumar deposited Rs. 20000 in a financial institution on 28t March
2000 and closes his account on 21st August 2000. If the constitution

pays an interest of 9% per annum, what amount does Kumar get?
GWIT @ HFH HpeuarssHed 28 wmrgd 2000 Sierm 05.20,000 ULl
BHHWUTH OCFVSHHISGBTT.  wBBId 21 Hevl. 2000 HISIHI SIS
HWHMD  (LPI &P HIMITIT. SbHBleUId WIGHG 9% el  allly
QULPMIFIIT6D GLOMT OUmID OHTenHHUI HT6wTH ?

In how many years will a certain sum becomes 3 times itself at
25% per annum under simple interest.

R OFHTND 6IHHMA QAUMHLSH 25% ouewi® Hl al'lg ainsHde0
3 OLMIGTGLD.

Find the amount on Rs. 25000 at 8% per annum for 6 years under
simple interest.

fh. 25,000 Hafl euguied 6 eumLBEIBeled 8% ouewih  euliguied
CBTHHGHW OLOTHS OHTENHMUIS HTEIS:
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16.

17.

18.

19.

20.

21.

22.

Find the difference between the interest obtained for Rs. 1000 at
12% per annum for 3 years and that for Rs. 1500 at 8% per annum
for 1% years.

51000, 12% ewiB ey iHHHe0 3  aUHLRBIB6T60 OBTHSHEGWD
A 1HOFHTBHGHID . 1500, 8% Wi aully aipsHHe 1 12
AUHLMIB6M6D CBTHHGD U IRHOHTMBHGHWD 2 6fen  alSHHWTFID
BITCNIB:

If interest on Rs. x for 2 years at R% per annum is Rs. 80, then find
the interest on Rs. 2x for one year at R% per annum.

ahX, R % oewi® euliguied 2 eu@pLBidemed GaThdH@GID aullyp e 80
aaied  h2X R% ouewih auliguied @ UBHLSHD OBTHSHGWD
AL 19S50SHTENHMUIS  BHIT6NIS5

In what time will Rs. 6000 amount to Rs. 7200 at 4% per annum?
THHMO  BTeVHH 4% oLewi® ol lguled  5.6000, . 7200 b
9 WI(HLD.

Ram lent Rs. 1200 to Kumar for 5 years and Rs. 1500 to Mohan for
2 years and received altogether Rs. 900 as interest. Find the rate

per annum.
gmb  h.1200 el 5 GU(HLBIGEHDHE GHT(HHES SLITUIT  GULPHIGGTTIT
M@ hH. 1500w 2 eU(BLEISEHSG ~— Corsellld &L ermul
QUPRIFSITT. SleuT GuBB CTHEH ML IRSH0HTmS H.900 SHEWIH UL LY
AiPHLD HTewIH ?

In how many years will a sum of money double itself at 5% rate of
interest?

THHMO AUMHLHH0 5% al'ly aibsHed @ OHTensd @FLIgliLimEGId?

At what rate of interest will a sum of money becomes % times in 5

years?

6bd el alHHHL 5 aUBHLEGB6TD @h OHTend %Lol_rleasrr@fo?

A man borrowed Rs. 16000 from two persons. He paid 6% interest
to one and 10% per annum to the other. In one year he paid total
interest Rs. 1120. How much did he borrow at each rate?
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23.

24.

25.

26.

Q(h G  @yewi  BUTHETL MBS  5.16000 edUI  HL6ITU
QUDIBGBIT. DT  PHAUHDG 6% BEABTHAIHDGEH 10% 6T

WG Uiy eully OCFVISHHISGBTT. @IH 6UHLSHHMBEG DleuT
CFHSHW QTHSH A 19H0HTens hH. 1120, galbeumm 'l 6i%hdSH 60
SlaUT OUBBSHOSHTMHMWIS SHT6EwIH?

A borrowed Rs. 1500 at 4% per annum and Rs. 1400 at 5% per
annum for the same period. He paid Rs. 390 as total interest. Find
the time for which he borrowed the money.

A 4% semih euliguied 5.1500 wjb 5% ouewi®h eullguied em.1400 ujb
261 &SMeVHHMBG SLMTUl OUBIBEIBIT. DT OCFSHU  OLOTHS
AL RH0HTmsE H.390. 6bhdH HTELHHBEG DIUT OCHTNHHEMET HLGITU]
QLIBMITT.

A certain sum of money amounts to Rs. 4720 in 3 years at 6% per
annum simple interest. In how many years will it amount to Rs.
5680 at the same rate of interest.

e GEIILL Oxtensd 6% opewid  FHlaul lguied 3  auHLHIGH6MN6
(h.4720 LB o WTHGIBH. 6I1HDHMT aU(HLEIS6MN0 96BFH eully
AiHHFH6L H.5680 LH © uwi(HD?

Rs. 12000 is lent out in three parts. The first part is lent at 4% per
annum for 5 years, the second at 5% for 3years and the third at 3%
for 4 years. The total interest earned on each part are equal. Find
the sum in each part.

qh. 12000 ep&Iml UGSHSMTUl  SLTUI  UPRISLILIGSH GIBH.  (LPSH6D
LGS 4% Wi el lguled 5 eUHLBIGEHGHGID, SFewiLmb LG 5%
3 QUHLBIBEHHGID OBBID PSIBTD UGHH 3% 4  eUBLBIGEHBGLD
LG0T QUPHISLILIH S SBIBSI. 661 OleumesTsleILD CuBMB OIS S
AL 19HOHTensd FIOD 6160160, @IGAUTH LGHulet OHTenHenul HTewrd ?

Vaideesh deposits I 500 at the beginning of every month for 5
years in a post office. If the rate of interest is 7.5%. Find the
amount he will receive at the end of 5 years.

maiderd eaiuelj X 500m eIt  1THH CBTLSHHHID @

OI6hFVBHH60 5 UMIBBEHHGHF CFSHHIAMTT. aully aisbd 7.5%
oTelley 5 LeWIBH6T (Igaled Siau] OUBID OHTMS 6T6le] 616, ?
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27.

Mr. Thomas invested an amount of Rs. 13,900 divided in two
different schemes A and b at the simple interest rate of 14% p.a.
and 11% p.a. respectively. If the total amount; of simple interest
earned in 2 years be Rs. 3508, what was the-amount invested in
Scheme B ?

HID6  eleileuT ¢ 13,900 &y @yewiLnsll Lfss A wBmpid B erem
Bm GeaueiBaum HLmiseled WHeSG Gauidmprt. A HlrsHeo 14%
ol waissHed, B HlrdHed 11% ey eisd  OCoTew(
seIBHLLILBLD  Gurgl 2 auhHL 60 HLbGHD el ep 3508
aiviis0 'B" eiaiiB HLSHFHe0 (1pHeSH GFUlH OHTend 6l6lalena]?
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